Efficiency vs Dxy(PV)

L LN N LRl LR LN L) LR LR LA LA

Ratio

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit5_QCDHighPt_base
—e— DQM_mkFit5_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epoch4
—— DQM_mkFit6_QCDHighPt_base
I Efficienc| —— DQM_mkFit6_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epoch4

1.2

[y

0.8]

efficiency vs dxy(PV)

0.6}

0.4]

0.2]

Ratio

15f--1-

-1-0.8-0.6-0.4-0.2 0 0.2 04 0.6 0.8 1
TP dxy(PV) (cm)

<005
%.045
hel
20.04
>
3035
k5
o
So.03
[
0.025
0.02
0.015

-30 -20 -10 0 10 20 30
TP dz(PV) (cm)

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


